

# Bid 111-2020 Great Hawk Air Service Supplier Response

#### **Event Information**

Number:Bid 111-2020Title:Disposable GlovesType:Competitive BidIssue Date:9/29/2020Deadline:10/13/2020 02:00 PM (ET)Notes:ONLY ONLINE BIDS WILL BE ACCEPTED FOR THIS<br/>SOLICITATION. PRICING SHOULD BE SUBMITTED ON THE LINE<br/>ITEMS TAB ONLY. PRICING WITHIN SUBMITTALS WILL NOT BE<br/>ACCEPTED AND MAY MAKE YOUR BID NON-RESPONSIVE.

### **Contact Information**

Contact: Conni Hayes

Address: Central Purchasing Government Center Building Room 338

200 East Main Street

Lexington, KY 40507 Phone: (859) 2583320

 $\begin{array}{ccc} \mathsf{FIUHe.} & (009) 2000020 \\ \mathsf{E}_{000} & (950) 2592222 \\ \mathsf{E}_{000} & (950) 2592222 \\ \end{array}$ 

Fax: (859) 2583322

Email: chayes@lexingtonky.gov

## **Great Hawk Air Service Information**

Contact:	ABRAHAM HENGYUCIUS
Address:	701 5TH AVE
	FL 42
	Seattle, WA 98104
Phone:	(360) 975-1866
Fax:	(360) 368-5999
Email:	info@N95-US.com

ONLY ONLINE BIDS WILL BE ACCEPTED! By submitting your response, you certify that you are authorized to represent and bind your company and that you agree to all bid terms and conditions as stated in the attached bid/RFP/RFQ/Quote/Auction documents.

info@N95-US.com Email

Signature

Submitted at 10/13/2020 10:52:46 AM

#### **Bid Lines**

1	Nitrile Glove: di	sposable, powder free, Size Small				
	Quantity: <u>1</u>	UOM: EA	Unit Price:	\$420.00	Total:	\$420.00
	Item Notes:	200/box				
	Supplier Notes:	1) FDA cleared medical gloves.				
		2) Case of 2,000 gloves (20 boxes	s 100 units).			
		3) Quoted Price is based on per c	ase of 2,000 gloves.			
		4) Shipments will be made from Se	eattle, Washington.			
		5) Vendor's monthly capacity is OI AS the Buyer needs.	NE billion gloves, and a	ccordingly c	apable to	supply AS MANY
	Alternate 1					
		Exam Glove: FDA cleared medical	gloves, disposable, po	wder free, S	Size Sma	<u>II.</u>
		gloves (20 boxes 100 units). based on per case of 2,000 glove				
				<b>#</b> 400.00	<b>Г</b>	<b>\$ 100.00</b>
	Quantity: <u>1</u>		Unit Price:	\$420.00	Total:	\$420.00
	Manufacturer:	Great Hawk Air Service				
	Manufacturer #:	JNG200601-S				

2	Nitrile Glove: dis	sposable, powder free, Size Me	dium							
	Quantity: <u>1</u>	UOM: EA	Unit Price:	\$420.00	Total:		\$420.00			
	Item Notes:	200/box								
	Supplier Notes:	1) FDA cleared medical gloves.								
		2) Case of 2,000 gloves (20 box	kes 100 units).							
		3) Quoted Price is based on pe	r case of 2,000 glove	es.						
		4) Shipments will be made from	Seattle, Washington							
		5) Vendor's monthly capacity is AS the Buyer needs.	ONE billion gloves, a	nd accordingly ca	apable to su	ipply AS	MANY			
	Alternate 1									
	Case of 2,000 g	Exam Glove: FDA cleared medic gloves (20 boxes 100 units). based on per case of 2,000 glo	•	e, powder free, S	ize Mediun	<u>n.</u>				
	Quantity: 1	UOM: EA	Unit Price:	\$420.00	Total:		\$420.00			
	Manufacturer:	Great Hawk Air Service								
	Manufacturer #:	JNG200601-M								
						Nitrile Glove: disposable, powder free, Size Large				
3	Nitrile Glove: dis	sposable, powder free, Size Lar	ge							
3			ge Unit Price:	\$420.00	Total:		\$420.00			
3	Quantity: <u>1</u>		-	\$420.00	Total:		\$420.00			
3	Quantity: <u>1</u> Item Notes:	UOM: <u>EA</u>	Unit Price:	\$420.00	Total:		\$420.00			
3	Quantity: <u>1</u> Item Notes:	UOM: <u>EA</u> 200/box	Unit Price:	\$420.00	Total:		\$420.00			
3	Quantity: <u>1</u> Item Notes:	UOM: <u>EA</u> 200/box 1) FDA cleared medical gloves.	Unit Price:		Total:		\$420.00			
3	Quantity: <u>1</u> Item Notes:	UOM: <u>EA</u> 200/box 1) FDA cleared medical gloves. 2) Case of 2,000 gloves (20 box	Unit Price:	9S.	Total:		\$420.00			
3	Quantity: <u>1</u> Item Notes:	UOM: <u>EA</u> 200/box 1) FDA cleared medical gloves. 2) Case of 2,000 gloves (20 box 3) Quoted Price is based on pe	Unit Price: Unit P	?S.		ipply AS				
3	Quantity: <u>1</u> Item Notes:	<ul> <li>UOM: <u>EA</u></li> <li>200/box</li> <li>1) FDA cleared medical gloves.</li> <li>2) Case of 2,000 gloves (20 box</li> <li>3) Quoted Price is based on pe</li> <li>4) Shipments will be made from</li> <li>5) Vendor's monthly capacity is</li> </ul>	Unit Price: Unit P	?S.		ipply AS				
3	Quantity: <u>1</u> Item Notes: Supplier Notes: <b>Alternate 1</b> <u>Nitrile Medical E</u> <u>Case of 2,000 c</u>	<ul> <li>UOM: <u>EA</u></li> <li>200/box</li> <li>1) FDA cleared medical gloves.</li> <li>2) Case of 2,000 gloves (20 box</li> <li>3) Quoted Price is based on pe</li> <li>4) Shipments will be made from</li> <li>5) Vendor's monthly capacity is</li> </ul>	Unit Price: Unit P	es.	apable to su	ipply AS				
3	Quantity: <u>1</u> Item Notes: Supplier Notes: <b>Alternate 1</b> <u>Nitrile Medical E</u> <u>Case of 2,000 c</u> <u>Quoted Price is</u>	UOM: <u>EA</u> 200/box 1) FDA cleared medical gloves. 2) Case of 2,000 gloves (20 box 3) Quoted Price is based on pe 4) Shipments will be made from 5) Vendor's monthly capacity is AS the Buyer needs. Exam Glove: FDA cleared medic gloves (20 boxes 100 units).	Unit Price: Unit P	es.	apable to su	ipply AS				
3	Quantity: <u>1</u> Item Notes: Supplier Notes: <b>Alternate 1</b> <u>Nitrile Medical E</u> <u>Case of 2,000 c</u> <u>Quoted Price is</u>	UOM: <u>EA</u> 200/box 1) FDA cleared medical gloves. 2) Case of 2,000 gloves (20 box 3) Quoted Price is based on pe 4) Shipments will be made from 5) Vendor's monthly capacity is AS the Buyer needs. Exam Glove: FDA cleared medic gloves (20 boxes 100 units). based on per case of 2,000 glo	Unit Price: Unit P	e, powder free, S	apable to su	Ipply AS	MANY			

4	Nitrile Glove: disposable, powder free, Size Extra Large				
	Quantity: <u>1</u>	UOM: <u>EA</u> Unit Price: \$420.00 Total: \$420.00			
	Item Notes:	200/box			
	Supplier Notes:	1) FDA cleared medical gloves.			
		2) Case of 2,000 gloves (20 boxes 100 units).			
		3) Quoted Price is based on per case of 2,000 gloves.			
		4) Shipments will be made from Seattle, Washington.			
		5) Vendor's monthly capacity is ONE billion gloves, and accordingly capable to supply AS MANY AS the Buyer needs.			
	Alternate 1				
	Case of 2,000 g	ixam Glove: FDA cleared medical gloves, disposable, powder free, Size Extra Large. Iloves (20 boxes 100 units). based on per case of 2,000 gloves.			
	Quantity: 1	UOM: <u>EA</u> Unit Price: \$420.00 Total: \$420.00			
	Manufacturer:	Great Hawk Air Service			
	Manufacturer #:	JNG200601-XL			

# Response Total: \$1,680.00